CHIMNEY TOPS AND FLUE LINERS

Enhance the natural beauty of your home.

Logan Clay chimney tops are manufactured of the finest natural materials, including premium clays, and are handcrafted to our exacting standards of beauty and precision.

Our classic designs will top off your home and fireplace system with a remarkable note of distinction.

And our clay flue liners are always precision cut to the correct lengths – surpassing all applicable ASTM specifications. They are dense and strong, and they never sag or lose their shape.



The Logan Clay Products Company

www.loganclaypipe.com www.garden-accents.com

Chimney Tops

Chimney	y iops					_
A The formation of the	B	C TH	D	E (Logan Style)	E (Traditional Style)	
	M	N	o	P		NOTE: Chimney tang are
R	S		U	V	W	Chimney tops are not shown to scale. No individual unit reflects the relative size of another.

Chimney Top Specifications

Satisfaction Guarantee

Every handcrafted Logan Clay chimney top and precision flue liner must pass our exceptionally high standards of excellence. If they do not, they don't ship. Period.

www.loganclaypipe.com www.garden-accents.com



	Description	Base I.D. (in.)	Base O.D. (in.)	Ht. (in.)	Wt. (Ibs.)	Top Opening (in.)
Α	Style A	11 ¹ / ₄ x 11 ¹ / ₄	14 ¹ / ₄ x 14 ¹ / ₄	25	79	8
	Baby A	6 ¹ / ₂ x 6 ¹ / ₂	$9^{1}/_{2} \times 9^{1}/_{2}$	22	50	7
_	Jumbo A	$14^{1}/_{2} \times 14^{1}/_{2}$	17 ¹ / ₂ x 17 ¹ / ₂	30	125	9
в	Style B	11 x 11	13 x 13	36	90	6
С	Style C					
	8 ¹ / ₂ x 8 ¹ / ₂	6 ⁷ / ₈ x 6 ⁷ / ₈	8 ¹ / ₂ x 8 ¹ / ₂	24	34	$6^{1}/_{2} \times 6^{1}/_{2}$
_	8 x 12	$6^{1}/_{4} \times 10^{1}/_{4}$	8 x 12	24	45	$6^{1}/_{4} \times 6^{1}/_{4}$
_	8 ¹ / ₂ x 13	6 ⁷ / ₈ x 11	8 ¹ / ₂ x 13	24	46	$6^{1}/_{2} \times 6^{1}/_{2}$
	8 ¹ / ₂ x 18	$6^{7}/_{8} \times 15^{1}/_{2}$	8 ¹ / ₂ x 18	24	78	6 ¹ / ₂ x 10
_	12 x 12	$10^{1}/_{2} \times 10^{1}/_{2}$	12 x 12	24	50	6 x 6
_	13 x 13	10 ⁷ / ₈ x 10 ⁷ / ₈	13 x 13	24	56	$7^{1}/_{2} \times 7^{1}/_{2}$
_	11 ¹ / ₂ x 15 ¹ / ₂	$9^{1}/_{2} \times 13^{1}/_{2}$	11 ¹ / ₂ x 15 ¹ / ₂	24	60	$8^{3}/_{4} \times 9^{1}/_{4}$
_	13 x 18	$10^{1}/_{2} \times 15^{1}/_{2}$	13 x 18	24	83	10 x 10
_	15 ¹ / ₂ x 15 ¹ / ₂	13 x 13	15 ¹ / ₂ x 15 ¹ / ₂	24	112	9 x 9
_	16 x 20	13 x 17	16 x 20	231/4	125	12 ³ / ₄ x 13 ¹ / ₄
	18 x 18	15 x 15	18 x 18	24	132	11 x 11
D	Style D	11 x 11	13 x 13	34	105	8
Ξ	Style E (Logan & Traditional Styles)	11 x 11	13 x 13	30	120	71/2
_	Jumbo E(Logan & Traditional Style		17 x 17	34	190	12
_	Magnum E (Logan of		24 x 24	43	400	15
	Style F	8 x 8	13 ³ / ₄ x 13 ³ / ₄	38	146	6
G	Anchor Bonnet	6 ⁷ / ₈	71/2	26	47	6
	Chimney Base	11 x 11	13 x 13	101/2	38	<u> </u>
	Cathedral 13 x 13	11 x 11	13 x 13	22	40	6 x 6
	18 x 18	15 ¹ / ₄ x 15 ¹ / ₄	18 x 18	35	152	7 x 7
┡	Colonial*	15 10 x 10	18	32 15	195 49	12
	Coventry		13 x 13 8 ¹ / ₂ x 8 ¹ / ₂	-		4 x 6
K	Diamond 81/2 x 81/2 81/2 x 13	$\frac{7^{1}/_{4} \times 7^{1}/_{4}}{7 \times 11^{1}/_{2}}$		28 28	37 58	$\frac{4 \times 4}{4^{1}/_{2} \times 4^{1}/_{2}}$
-	13 x 13	$11^{1}/_{2} \times 11^{1}/_{2}$	8 ¹ / ₂ x 13 13 x 13	30	79	$\frac{47_2 \times 47_2}{7 \times 7}$
	Essex	11^{2} x 11^{2} $12^{3}/_{4}$ x $12^{3}/_{4}$	13×13 $17^{1}/_{4} \times 17^{1}/_{4}$	12	60	12 x 12
M	Hampshire*	12 /4 × 12 /4	18	32	195	12 × 12
	Kent	8 ³ / ₄ x 11 ³ / ₄	$11^{3}/_{4} \times 14^{1}/_{4}$	26	94	7 x 9
N	Peerless	$11^{1}/_{2} \times 11^{1}/_{2}$	13 x 13	28	76	7 x 7
0 P	Plaza	14 x 14	13×13 $17^{1}/_{2} \times 17^{1}/_{2}$	25 ¹ / ₂		113/4
	Queen Anne*					
Q		15	18	32	195	12
R S	Savoy	14 x 14	$17^{1}/_{2} \times 17^{1}/_{2}$	25 ¹ / ₂	155	11 ³ / ₄
	Windsor*	15 91/ x 1/	18 10 x 17	32	195	12 71/ x 12
	Cambridge	8 ¹ / ₂ x 14	12 x 17	24 ¹ / ₂	80	$7^{1}/_{2} \times 13$
	Avon	14	171/2	30	190	9 ¹ / ₂
V	Baron * Denotes also av	12 ¹ / ₂	15	31	120	91/2
	in Mini Size	10	12	18	56	9
W	Rain Guards: Sm	all, for 8" opening	g, fits A, D & E			

Large, for 12" opening, fits Jumbo E, Plaza, Savoy,

Queen Anne, Colonial, Hampshire, & Windsor

Magnum, for 15" opening, fits Magnum E

Flue Lining Specifications

A Rectangular and Modular Flue Liners – 2	2 Ft. Lengths
---	---------------

Outside dimensions (approx. in.)	Flues per pallet	Weight per piece (lbs.)	Weight per pallet (lbs.)
8 x 8	84	32	2,688
8 ¹ / ₂ x 8 ¹ / ₂	84	33	2,772
8 x 12	60	50	3,000
8 ¹ / ₂ x 13	60	55	3,300
12 x 12	40	60	2,400
13 x 13	40	71	2,840
8 ¹ / ₂ x 18	36	92	3,312
13 x 18	24	112	2,688
16 x 20	18	142	2,556
18 x 18	18	150	2,700
24 x 24	12	270	3,240
11 ¹ / ₂ x 15 ¹ / ₂	32	85	2,720
15 ¹ / ₂ x 15 ¹ / ₂	24	115	2,760
19 ¹ / ₂ x 19 ¹ / ₂	18	170	3,060
19 ¹ / ₂ x 23 ¹ / ₂	18	220	3,960

Round Flues - 2 Ft. Lengths

Inside diameter	Flues per pallet	Weight per piece (Ibs.)	Weight per pallet (lbs.)
6"	84	24	2,016
7"	50	35	1,750
8"	46	42	1,932
9"	32	45	1,440
10"	28	54	1,512
12"	16	72	1,152

Flue Rings

Inside diameter	Lengths available (in.)
6"	6, 9, 12, 15, 18, 24
7"	6, 9, 12, 15, 18, 24
8"	6, 9, 12, 15, 18, 24
9"	6, 9, 12, 18, 24
10"	6, 9, 12, 18, 24
12"	6, 9, 12, 18, 24



Æð



Our limited warranty

Logan Clay Products (Logan) warrants its products to be free from defects in material and workmanship as manufactured. If a product does not conform to this limited warranty, Logan will, at its option, replace the defective product (FOB the manufacturing site) or refund the amount of the purchase price the customer paid Logan for the defective product. The remedy of replacement or refund is the customer's sole remedy against Logan. **In no event** shall Logan be liable for incidental or consequential damages, and in no case will Logan's liability exceed the sales price of the product. Logan makes no other express or implied warranties including, without limitation, merchantability, fitness for a particular purpose, or against infringement of any patent.

Quick shipment

At Logan Clay, we stand by our commitment to ship our products within 24 to 48 hours of taking your order.



The Logan Clay **Products Company**

201 South Walnut Street P.O. Box 698 Logan, Ohio 43138-0698

740.385.2184 740.385.9336 fax 800.848.2141

e-mail: loganclay@loganclaypipe.com

www.loganclaypipe.com www.garden-accents.com

CLAY 0050 103002